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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% A F054£02 7 16 H eI Dt e/ 85 (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

X R & JE 10. 00| AHxf 59 590 972 683 216
w5 | 1000 Mkt 120 1,200 1,080  900| 864
NS £ % 10. 00 | #856f 209 2,090 1,426 1,252 788
HOR w5 5. 00| FHxf 6 30| 3,024 2,880 2,808
ERSEaNe) o JE 12. 00 [ #A % 117 1,404 1,080 1,002 648
FEONAE (r— 4. 00| AR} 46 184 2,052 1,992 1,944
H & SR 3. 00| FHxf 286 858 1,998| 1,178 756
B A [ 1. 00| FHxf 200 200 1,080 815 432
ENIEE 5.00[ A% | il 65| 4,320] 3,115 2,376
T R 2. 00| H%F 174 348 1,296 1,142 648
= w5 4. 00| FH%f 167 668 1,296] 1,129 864
[ 1N 5 5. 00| FHxf 1,224 6,120 2,052 1,702 1,242
~7 b~ | F 3. 00 [ FHx} 14 421 1,728| 1,713 1,620
SR BN 2. 00 [ FHx} 3 6| 3,780| 3,744| 3,672
H 3 w5 5. 00 [ FHx} 191 955 1,944| 1,743| 1,188

SSETE VR 10. 00| AH %t 120 1, 200 2,138
B OF g, 10. 00| AHxf 108 1,080 2,484| 1,872| 1,620
£ A L 10. 00| AHxf 351 3,510 2,484 1,544 108
LA A o 10. 00 | #85f 505 5,050 3,132| 2,341 1,350
P=—1rF & [ 4. 00| FHxf 450 1,800 2,052 1,737 756
Tayal— (r— 6. 00 | FHxf 186 1,116 3,132| 2,295 972
= 1| .00l fixt| 6] 6] | 0,592
AEHEE w5 0. 10| #Hxf | 3,700 370 167 135 65
ZDXH E % 0. 20 | FH %} 1, 380 276 84 71 62
LU &k B 0. 20 | FHxf 450 90 86 85 81
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P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A F054£02 7 16 H eI Dt e/ 23 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

38 Foak L 10. 00 | #H%F 663 6,630 4,860 3,670 2,160
5 U H & 10. 00| FA % 216 2,160 4,104 3,906| 3,780
AVavE 7 4 U E | 13.00| fH%f 30 390 2,646 2,610 2,538
T AT E— = B 0. 27| FH%f 148 42 378 340 324
HEBR D & [ 0. 27 | ¥} 3, 668 987 540 511 270
S X EF I 0. 25| FHx} 8, 585 2,161 518 417 216
RIHD Y £ IR 0. 25| FHx} 4, 409 1,104 400 364 216




